Electronics I * Midterm 2 * December 8, 2009 * 60 Minutes

I have neither given nor received unauthorized help with this exam, nor do I have reason to believe that anybody else has.
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1) The BJT in the amplifier circuit below has /-=1.5 mA and Vee = 2.5 V. What should be the values
of R and Rz? Calculate the input resistance, output resistance and voltage gain of the amplifier circuit.
(Assume silicon BJT with f=200) V= $S0V
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2) Find the oper

resistance, output resistance and voltage gain of the amplifi
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ating point for the silicon BJT in the amplifier circuit below. Calculate the input

er circuit. (Assume p=200, V4 = 500 V)
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